Restar Expresiones Lineales (G)

10.

Simplifique cada expresion.

-8(-2v-9)-3(8v+1)

. 9(-6y-7)-3(7y +9)

(n+1)-6(2n+4)

-4(7w - 8) - 8(-7w - 8)

2(4p+8)-9(3p +4)

2(3h +9) - 2(-8)

-5(-2y - 9) - 2(7y + 1)

-8(5r+2)-4(2r-6)

-8(-2v - 8) - 4(8v + 1)

-4(-3f- 4) - 7(-8f - 6)
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Restar Expresiones Lineales (G) Respuestas

10.

Simplifique cada expresion.

-8(-2v-9)-3(8v+1)

-8v + 69

. 9(-6y-7)-3(7y +9)

-75y - 90

(n+1)-6(2n+4)
-11n - 23

. -4(7w - 8) - 8(-7w - 8)

28w + 96

2(4p+8)-9(3p +4)
-19p - 20

2(3h +9) - 2(-8)
6h + 34

-5(-2y-9)-2(7y + 1)
-4y + 43

-8(5r+2)-4(2r-6)
-48r + 8

-8(-2v - 8) - 4(8v + 1)
-16v + 60

~4(-3f- 4) - 7(-8f - 6)
68f + 58
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